X ER TR
L~UL1 L~UL 2 L~UL 3 L~UL 4 L~UL 5
THEX5 T f& Tl ARl B HAL & &
EERS R
EHET
JEH T
A (D)
A —7 5 v b m3
Jin) m3 25.8
AEE T
ME2. SmAH m3 77.6
PR AT
oy U]
+w m3 22.4
ek T
(=
K4
TR, A — T HRHI m3 292. 7




X ER TR
LUl L~yL 2 L~ 3 L4 L~UL 5
THEX5 T f& TRl ARl B HAL & &
B R
B NN m3 174. 4
S IE m2 100. 9 [96.9+4. 3=100. 9
T
7 L& v A UL
i
AT 1 FE300A m
A — (AR 300 X 300 m 19.0
A — (A RAITE300 X 500 m 199.5
H AR
AT
300 X 600 m 21.5
300 X 700 m 7.5
300 X 800 m 2.0
g
HHEMNEM 155300 e
A — (AR A e 115




AR IEE

L~UL1 L~Ur 2 L)L 3 L~yr4 L)L 5
THEXS I & Bl AR Bl K HAL ¥ & &
BRT
B
P1-RC1-D400 m 2.6
HeE
VP—¢ 100 m 4.6
VU- ¢ 300 m
HEAME - =R —L
T
HIEDE
15| G1-B300-L500-H600 & Pt rv=fur & -14(110°
25|  G1-B300-1500-H800 T 6 | v E -14(110°
3% G1-B300-1600-H800 T 2 | v E -14010°
45| G1-B300-L600-H1000 & Pt rv=fur & -14(110°
5% G1-B300-1600-H1200 EET 1| v & -14010°
HEYIET
ShLE GO
T AT 7 )Lk t=10cmPL T m 292




AR

B

L~UL1 L~UL 2 L~UL 3 L~UL 4 L~UL 5
THEX5 T f& TRl ARl B HAL ¥ = &
av 7 J—h t=10cmA F m 19
eI
T AT 7L b t=Tcm m2 338.3
T AT 7L b t=5cm m2 182.2
B LR
[k 7 A 2 TERIEEE] m3 32.8 | 338.3X0.07+182.2X0. 05
HEYEE L T
a7 ) — MEEY
B L
3 7 RS m3 67.3
PR HEY m3 0.1
B LR
(& X 5y - R IERE] m3 67.3
(& X 5y - R IERE] m3 0.1
PR ISR T
g SEE
40kg/#LLT e 0. 41%0. 50%0. 06=0. 012m3/4%




AR IEE

L~L1 L~yL 2 L~ 3 L~ 4 L~L5
TEXSY I & A M Bl B HAL & i &
40kg/ ¥ & #8 2 170kg /K LA T 1% 476.0 0. 52%0. 50%0. 1=0. 026m3/4%
TEHR AL T
BOE R ALER
[FfEn] m3 12.4 [476x0. 026
A
BT
T AT 7L MEET
HIE
T B
BEITY T
RC-40, t=1b5cm m2 126. 6
- s
RiFgaA M-30, t=10cm m2 126. 6
]
BRIET A2 t=hHem, W<
. Om m2 126. 6
MufhE i (FaE)




AR IEE

L~L1 L~yL 2 L~ 3 L~ 4 L~L5
THEXS T Fl Rl A B M HAL & i &
BEITY T
RC-30, t=llcm m2 39.
|
BIFgAEA M-30, t=7cm m2 39.
e
BRIET A t=4cm, W>
. Om m2 39.
e
iz
BEITY T
RC-30, t=10cm m2 537. 1 [HRE+3 AEF=509. 2+27. 9
e
BRIET A2 t=3cm,
1L4=W=3.0 m2 537. 1 [HRE+3 AEF=509. 2+27. 9
oy ) — MEhEE
iz
BEITY T
RC-40, t=10cm m2 10.
e
o ck=18N/mm2 t=10cm, W=1.0 | m2 10.4 |10. 4%0. 1=1. 04 i

X iR T




A ER

B

L~L1 L~yL 2 L~ 3 L~ 4 L~L5
THEXS T Fl Rl A B M HAL & i &
X iR T
~q v bR O
A) XH#R
FEE, A, 15emlE
R SR A MALRR m 253. 8
JERA B T
TEELT
RE Y m3 —
R L m3 —
A E m2 4.3 fEELTICEE
AT
BEERER T g v
1 =5fA m CFE—fi R
25 %A m 13. 8 [HkrE A
TR R
TR R A
1A A ZN 13.0




ff



I THERER

" % B
% ﬁ‘ #l BB o 4 & 3
B u
Aty {EHEl m3 25.8 25. 8
Bt
SEET m3 77.6 17.6
R AR m3 22.4 22. 4




T EHER

FEELT Ghil) E ik B+
+ -T2 + ® 25.8 x0.90= 23.2 IR L
oy I a i) 25.8 M EiEETREAL| 1000 X0.90=  111.1 > BREREET
& &t 25.8 HERE T 77.6
& &t 134.3 RERL
EBERE
i
& £ 77.6
7+ (#hih)
+ ® 56.7
& &t 56.7
g *
[+ & |
[ ZEEEmY | | =<
RIES% L
KiEE L+ 100.0 <= 111.6-77.6= 22.4




FO4EH (4D FEaEH] (B AD

; = L

i&

)

NO. 0+17.0 0.1
NO. 2 23.00 0.1 0.10 2.3
NO. 4 40. 00 0.1 0.10 4.0
NO. 6 40. 00 0.1 0.10 4.0
NO. 8 40. 00 0.1 0.10 4.0
NO. 10 40. 00 0.1 0.10 4.0
NO. 12 40. 00 0.1 0.10 4.0

NO.13+14.7 ~ 34.70 0.1 0.10 3.5

/Nt 257.7 m3 25.8 m3




HEET (KA) SEELT (B

; = L

i&

NO. 0+17.0 0.1
NO. 2 23.00 0.05 1.2
NO. 4 40. 00 0.4 0.20 8.0
NO. 6 40. 00 0.4 0. 40 16.0
NO. 8 40. 00 0.4 0. 40 16.0
NO. 10 40. 00 0.3 0.35 14.0
NO. 12 40. 00 0.3 0.30 12.0

NO.13+14.7 ~ 34.70 0.3 0.30 10.4

/Nt 257.7 m3 71.6 |m3




R IE % * & 5t =&/

K 8 (m3) 2 R (md) s =
I & R
A=7~ M BAA  ERB  FERIC  IERID
T wE
;& - K BR 292.7 174.4
08x%5
25 HEM 40 3.0 06x5
29%2
3ISHEM 5.8 48 24%2
10.1 %1
55 10.1 9.1 9.1x1
& B 312.6 191.3
y= 1913
BRERRTE (1/09)
191.3x  (1/09) =2126
RI#=

312.6

- 212.6= 100.0




HF



HKIHESRFTR

% # "“E 7B &1
EELT
K iR m3 292.7 292.7
2 R m3 174. 4 174. 4
HEEEE L x 0. 6m m2 96. 6 96. 6
B - KER
EHEEE 1#8300A m
BE—ALEIE 300 x 300 m 19.0 19.0
—n— 300 x 500 m 199. 5 199. 5
BEAR(AIE) Al A 300x600 m 21.5 21.5
HWTR 300x700 | m 1.5 1.5
HWTR 300x800 | m 2.0 2.0
L EAERE 18300 1"
BE—AERAES B300 1" 115 115
B K
Ea—LE BEI1#E D400 m 2.6 2.6
B E & VP-100 m 4.6 4.6
—n— VU-300 m
B
B R W 15 (B300+L500%H600) &= FR
—n— 25 (B300+L500%H800)  f&iF 6 6
o 38 (B300%L600xH800)  &iFFr 2 2
—n— 45 (B300+L600%H1000)  f&iF
—n— 55 (B300+L600%H1200)  f&iF 1 1




HEKT

BEXT

& &t =R (GHD

HiEuHE LEHE (m3)
LR K 1B B R " &
I ME K OEE RETEE y5 g @y mAc mAD
18138 - K & 292.7 174.4
ELEAE
BAE—(ARZEE | 2185 0.6 131.1
1S £AE 5.2
25 A fAliE 6.9
3SR L fliE 7.2
15 =M
25 HEM 50 080 060 06 4.0 30 30
IS HEM 20 290 240 07 5.8 48 14
4S5 HEM
S5SHEM 1.0 1010 910 09 101 9.1 0.9
Eai—LE 2.6 — — 1.00 2.6
VU-300
VP-100 46 —  — 050 2.3
ait 312.6 191.3 1606




& - K&

K &R/ K HEGEAE)

B E FigMIE I 3R ]} FHME I IR w

A = XFEERRE

)

NO.0+17.0 0.8 0. 40
NO. 2 23.00 1.5 1.15 26.5
NO. 4 40. 00 1.1 1.30 52.0
NO. 6 40. 00 1.1 1.10 44.0
NO. 8 40. 00 1.1 1.10 44.0
NO. 10 40. 00 1.1 1.10 44.0
NO. 12 40. 00 1.1 1.10 44.0

NO.13+14.7 ~ 34.70 1.1 1.10 38.2

/Nt 257.7 m3 292.7 \m3




# RE&EA # R&/

A R BRI = swwEm w B M oE FNNE T fw
NO. 0+17.0 0.4

NO. 2 23.00 1.3 0.85 19.6

NO. 4 40. 00 0.6 0.95 38.0

NO. 6 40. 00 0.6 0. 60 24.0

NO. 8 40. 00 0.6 0.60 24.0

NO. 10 40. 00 0.6 0.60 24.0

NO. 12 40. 00 0.6 0. 60 24.0
NO. 13+14. 7 34.70 0.6 0.60 20. 8

e m3 174.4 m3




Ba—FREAEGADEBM R R

% #h 102 e 1282 132 142 152 162 e E
L=1000 2 2 2 1 0 7
L=1500 4 1 2 0 0 7
{8 ;% (300%500)
L=2000 21 10 11 24 25 91
5t 300500 200 m 105
L=1000 1 1 @
L=1500 0
@I 3% (300%300)  L=2000 9 9
fBtn Y A 0
5t 300300  19.0 m 9
BIEER 19.0 50. 0 23.5 27.0 49.0 50. 0 28.5 m
L=1000 1 i
EAEMA | L=1500 0
L=2000 5 18 5 5 20 21 74
L=1000 0
EAMA | L=1500 3 1 2 6
L=2000 4 3 4 11
L=1000 ! 1 i 3
WHER <1500 0
L=2000 i 1 i 3
L=1000 1 1
& InERAE A
= ‘“‘Eg()mm) L=1500 1 1
g L=2000 1 i 2
g L=1000 0
2|
g ‘“Efmﬁ L=1500 0
¥
L L=2000 0
= ®
L=1000 1 1 1 3
““‘Ef&fnﬁﬁ L=1500 0
L=2000 0
BAHER | L=2000 0
AR L=2000 1 1 2
L=1500 0
EEILA [
L=2000 2 1 1 2 2 8
L=1000 0
HESER  L=1500 0
L=2000 0
L=1000 0
2
S5 fEEmA L=1500 0
V)
r L=2000 0
=
f@atn Y B 0

& &t

115
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= 2 AR E 3 %0 5 (505 3% %0 (205 %44 EEALE i
%o |ESwm i AL 1 %0 F (50%) 150 F (20%) ™ = HEESE mum |
1.0m 1.5m 2.0m 1.0m 1.5m 2.0m 1.0m 1. 5m 2.0m 1. 0m 1.5m 2.0m 2.0m 1.5m 2.0m 1.0m 1.5m 2.0m
FEABD 8.0 4
—feE 11,0 1 5
& i 19.0 0 5 0 4
%0 5 (50%) 3% %0 5 (20%) 1244 F
&3 B A S0 i | " | EmIL M E BUIA  fE
A R AR R HA &R | | |
st 1O ‘ ‘
1. 5m 0
2.0m 5 4 ‘ 9
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ZEEA AERH imER A (50%Y ImER AR (208Y 24 F EEILA b8
=4 EE M) EEL AL smER AR ( ) ImER A ( ) 24 5 S8 BUE R
1. 0m 1.5m 2.0m 1. 0m 1.5m 2.0m 1.0m 1.5m 2.0m 1.0m 1.5m 2.0m 2.0m 1.5m 2.0m 1.0m 1.5m 2.0m
n 1(F&)
T’TAE 4.5 3
— AR 21.5 8 1(%E) 1(H) 1
& i 50.0 0 18 3 0 2 1 1 2
imER AR (50%Y) ImER AR (20Y) 2
5 e = AHF n m SRR 1S E A BUIR IS
5 % 5 R &R ER
ARt 1. 0m 1 1 2
1.5m 0 3 1 0 4
2.0m 18 0 1 ‘ 2 21
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ZEEEA EALIA imER AR (50FY) mER A (203Y) B EEILA WS ER
X5 ERK () [BUIE  HE
1. 0m 1.5m 2.0m 1. 0m 1.5m 2.0m 1.0m 1.5m 2.0m 1.0m 1.5m 2.0m 2.0m 1.5m 2.0m 1.0m 1.5m 2.0m
T’TAE 1.5 1 3
—A%ER 16.0 5 1(H) 1(&E) 1(E) 1
& i 23.5 5 1 3 1 1 1
imER AR (50%Y) ImER AR (20Y) 2
R R = AHF n | m | SRR S E R BUIR IS
- AR R AR R &R ER | | |
ARt 1. 0m 1 1 2
1.5m 1 1
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= e #1 P AR 320 (508 s% 80 (208 % (<4 Fi ST 558
R EE = AL B0 (50%) Bh e (20) ™ = i SE T
1.0m 1.5m 2.0m 1.0m 1.5m 2.0m 1.0m 1. 5m 2.0m 1. 0m 1.5m 2.0m 2.0m 1.5m 2.0m 1.0m 1.5m 2.0m
— 49.0 20 16 1(E) 1(£) 2
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1.0m 1.5m 2.0m 1.0m 1.5m 2.0m 1.0m 1. 5m 2.0m 1. 0m 1.5m 2.0m 2.0m 1.5m 2.0m 1.0m 1.5m 2.0m
. 1(&)
—f% 50.0 21 1(H) 2
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AZAIERERR
#

& B ® B = :
15 2% 38§ a8 i
1 ¥ A
300 x 300
300 X 400
300 X 500
BHHEDERAE  300%600 m 100 115 215
300 x 700 m 75 75
300 x 800 m 20 20
At m 31.00
IR BHiEMA-300B L=05 #&
$HiEMA-3008 =05 #K& 0
T-25 300B L=05 #& 1 1 2
g T-25 300B L=1.0 @ #& 4 5 5 14
T-2 300B L=05 # 0
T-2 300B L=1.0 3¢ 0
Avri—kavsy—t  ock=18N/mm2 | m3 0225 0375 0.431 1.031
EHEar)—k  ock=18N/mm2 | m3 0443 0590 0.679 1.712
HEa B m2 150 200 230 5.80
ERRA RC-40 m3 5.2 6.9 7.9 20.0
73 i m3
i R D m3
EEEIE m2 5.2 6.9 7.9 20.0




1SR EAEREFHFEE

A &t g =X #H =
T A
300 x 700 L= 750 = 7.50 75 m
300 x 800 L= 200 = 2.00 20 m
JL—FU 5 E(T-25) N = 1m X 4+05m X 1 = 5 5
A N—kav sy —k v1 = ((0.065+0.135) X 7.5/2) X 0.300 = 0.225
(0 ck=18N/mm?) _
TV = = 0.225 0225 m®
HBEEa2H1)—k
(0 ck=18N/mm2 )
(t=0.10) V = 7.5%0590%0.10 = 0.443 0.443 m®
HBEa ) —rER
(t=0.10) A=75x010x%2 = 1.500 150 m?
A (RC-40)
(t=0.10) A =75%0.69 = 5.175 52 m2
73 i
3
m
b} R
3
m
EmEIE A =7.5x0.69 = 5.2 52 m?




= = N =<
2SR ZRIERESEE
A &t g =X #H =
=]
300 X 600 L= 1000 = 10.00 100 m
HEHR = N = = 0 #%
HL—F 5 E(T-25) N= 1.0mx5 = 5 5 K
A N—kavsy—k V1 = (0.125+0.125)/2 x 10.0 X 0.30 = 0.375
(o ck=18N/mm?)
TV = = 0.375 0.375 m?®
HEEa2 91—k
(0 ck=18N/mm2 )
(t=0.10 V1 =10.0 X 0.59 X 0.10 = 0.590
TV = 0.590 0590 m®
HBEa ) —rER
(t=0.10) A =100x%0.10x2 = 2.000 200 m’
EHIERA(RC-40)
(t=0.10) A1 =10.0 X0.69 = 6.900
TA 6.900 6.9 m?
73 1B = m®
= = m?®
E@EBIE A =10.0%x0.69 = 6.900 6.9 m?




IEAEAIEHE

SRS

A &t g =X #H =
=]
300 X 600 L= 1150 = 11.50 115 m
HERA = N = = 0 #%
JL—F 7 & (T-25) N = 1.0m X 5+0.5m X 1 = 6 6
A n—kavsy—k| Vi1 = (0.125+0.125)/2 X 11.5 X 0.30 = 0.431
(o ck=18N/mm?)
TV = = 0.431 0431 m?®
HEEa2 91—k
(0 ck=18N/mm2 )
(t=0.10 V1 =11.5% 059 X0.10 = 0.679
TV = 0.679 0.679 m?®
HBEa ) —rER
(t=0.10) A=115x010%2 = 2.300 230 m?
A (RC-40)
(t=0.10) Al =115x%0.69 = 7.935
TA 7.935 79 m?
K 1E - e
br: R - 3
E@EBIE A =115x%0.69 = 7.935 79 m?




BaE— AR ik F B g
i 11 a 11

gl = T R & % gl = £ R
NO.0 +17.0 ~  NO.1 +16.1 19.0
NO.2+9.7 ~  NO.4+19.6 50.0
NO.4+0.4 ~  NO.6+3.9 23.5
NO.6 +15.5 ~  NO.8+2.5 21.0
NO.8 +14.9 ~ NO.11+3.5 49.0
NO.11+4.3 ~ NO.13+3.9 50.0
it 218.5
&t 218.5




Ez:Ealnt E E G g
E 1 E=] 1
b R E K 1 b R E K ® =
NO.1+187 ~ NO.2+8.2 9.5 15
NO.6 +4.7 ~ NO.6+14.7 10.0 25
NO.8+3.3 ~ NO.8+14.8 11.5 35
&t
15 9.5 Im
25 10.0 m
35 11.5 m




BEET 13 i ==
x i = i

2l & £ E 2 & £ £ % =
NO. 1 +16.5 0.7 HP-400
NO. 2 +8.9 1.9 HP-400
NO. 6 +7.3 2.3 VP-100
NO. 6 +12.5 2.3 VP-100

5t HP-400 2.6

VP-100 4.6

&% Ea—L® D400 2.6

£ s
BEE b o100 4.6




HEm iE B g
x 181 181
b:l| = E & ] b:l| E & B =
NO. 1 +16.5 1 55
NO.2 +8.6 1 35
NO. 2 +9.2 1 35
NO. 6 +4.3 1 25
NO. 6 +15.1 1 25
NO.8 +2.9 1 25
NO. 8 +15.6 1 25
NO. 11 +3.9 1 25
NO. 13 +13.3 1 25
it
6
2
1
&5t [E:130
6 &R
2 &R
[E:130




(300%300%") (3005008Y)
500 HIE
158) 33 mmuRssR)
il S0
FrEd=
BERESR) 243|158
- e f \ ﬁ
- LN 2] 2 [ h”l =t 2
- NEND ] .l gl 8 | ‘I' gl
e B F 1 = o =7 | l TR
T ks S — " o8 3 | o
1) (1] 1)) 3 gr M i =]
0g 3007}|0c 0g_300 Loa
500 ( Q 500 Q
450 800 450 450 6800 450
& £ L=10.00m
. TL‘IL —
£ W OB % u 3 BHSY g g o o=
B =
{81 P B300 1.0 1000 100 m
EHEILZIL 1:3 0.50 X 0.030 0.015 10.00 0.150 m3
BEiEHE '351_5‘(? 0.60 % 0.1 0.060 1000  0.60 m3
HEEEIE 0.60 10.00 6.0 m2

KX TIFREETE




300 x 500-800

< %00 150 500 153
0 800 5 SMBLHIEE (1108E60) 906 oo
150 500 300500 T-25 ﬁ
. H 8L u ‘\
] T
31 o b ¢ -
8\‘ = ol 06 = § g: § |
i ] 0
150] 500 /150 ] 800 |
(38 800 =~ L 450 e 900 V e 450 )
. + ‘I. sl |, _ . -
% B 8 & o = BEsY , x oy o8
H =
a291)—bk | gck=18N/mm?|0.60 X 0.80 X 0.950—(0.30 X 0.50 X 0.734) 0.332| (KA | 0.332 m3
—(0.010 X 24+0.30) x (0.060 X 2+0.50) x 0.066
—(0.300 % 0.500 x 0.15)—(0.300 X 0.500 X 0.15)
0.287 1| 0287 m3
2 OB {(0.60+0.80) x 24 Fir
+(0.30+0.50) X 24} x 0.950 4.18| ($EBRAT) | 4.180 m2
—(0.300 % 0.500 X 24Ffr)—(0.300 X 0.500 X 24-FfT)
+0.30 X 0.15 X 4 3.760 1| 3.76 m2
ERBR Tf;;g 0.70 X 0.90 0.63 1 063 m2
FL—FoiE T-14 #2300 % 500 110° B= 1.0 1 1.0 #8
73 i 1.60 % 1.80 X 0.280 0.8 1 0.8 m3
i B 0.8—(0.60 % 0.80 X 0.130)—(0.70 X 0.90 X 0.15) 0.6 1 0.6 m3
HEEIE 0.70 X 0.90 0.6 1 0.6 m2




300 x 600-800

1000 i 150 600 156
SR HEE (110E268) .
0 900 50 T 300%500 T-25 . 9060 6090
150 600 150 T
— L ]
3 g 30 08 0 s §
| | I e Ly
31 X 00 = 24 E=30 o:‘
[0 1 8
0 5090
150 600 150 900
L 900 | L 450 B 1000 L 450 |
. + ‘I. sl |, _ . -
4 B | o = BEsY  m oy &
B =
a1 —b | o ck=18N/mn?|0.60 X 0.90 X 0.950—(0.30 X 0.60 X 0.719) 0.364| (3ZFRHN) | 0.364 m3
—(0.010 X 24+0.30) X (0.060 x 2+0.60) X 0.081
—(0.300 X 0.300 X 0.15)—(0.414"2 X 7t X 1/4 % 0.15)
0.328 1/ 0.328 m3
2 OB {(0.604+0.90) x 24 Ffr
+(0.30+0.60) x 24 Fr} x 0.950 456 ($EBRAT) | 4.560 m2
—(0.300 x 0.300 x 24 Fff)—(0.135 X 24°FF)
+0.30 X 0.15 X 4 4.540 1| 454 m2
BEHEHR '351_;(? 0.70 X 1.00 0.70 1 070 m2
TL—ForE T-14 ¥t2£300 x 600 110° BAZE 1.0 1 1.0 #H
73 i 1.60 % 1.90 X 0.970 2.9 1 29 m3
i B 2.9—(0.60 X 0.90 X 0.820)—(0.70 X 1.00 X 0.15) 2.4 1 2.4 m3
HEEFE 0.70 X 1.00 0.7 1 0.7 m2




300 x 600-1200

1000
200 600 200
1100 SRS (11052R]) !
< 300x600 T-25 . 1406 ﬁlﬁ
0 1000 50
200 600 200
=1 L | I
> ‘ |
31 s bo) X bl 3 |
< 8 8|
14,9%5, %40 - T g
(200 600 200 ! ! (1 (1] 2
50 1000 50
- I 50 1000 K
450 | 1100 450
. + ‘I. sl |, _ . -
4 B | o it BEsY  m oy &
H =
aA91)—k | gck=18N/mm?|0.70 X 1.00 X 1.150—(0.30 X 0.60 X 0.919) 0.724| (¥EFRHED) | 0.724 m3
—(0.010 X 240.30) % (0.060 % 2+0.60) X 0.081
—(0.300 % 0.300 % 0.20)—(0.470"2 X 7t X 1/4x0.20)—(0.470"2 % 71 X 1/4 % 0.20)
0.632 1| 0632 m3
i) B {(0.7041.00) x 24 FF
+(0.30+40.60) X 24} x 1.150 7.02| (FEBRED) | 7.020 m2
—(0.300 x 0.300 X 24 F)—(0.173 X 24 F1)—(0.173 X 24 F)
+0.30 X 0.20 X 4 7.050 1| 7.05 m2
ERBR 'ff;;g 0.80% 1.10 0.88 1 0.88 m2
FL—Fo5% T-14 #2300 % 600 110° B= 1.0 1 1.0 #8
73 i (3.130 x 3.43041.700 x 2.000),~2 X 1.430 10.1 1 10.1 m3
i R 10.1—(0.70 x 1.00 % 1.280)—(0.80 X 1.10 X 0.15) 9.1 1 9.1 m3
HEEIE 0.80%1.10 0.9 1 0.9 m2




Ea—LEDI00) HEHEE

o]
&
i
LD' kD.
& &3
, ,
1000
E £ L=10.00m
. e -
£ W OB % u 3 ?;'Légjﬂﬁﬁli
==
Ea—LE D400 1.0 1000 100 m
FIEM b 1.0%0.335-(1/4%0.47°2% 1) /2 0.248 1000 25 m3
HEEEIE 1.00 10.00  10.0 m2

KX TIFREETE




EEENVPIOO) $EstEE

193 114 193

f{;::,— EI
<r w -
& ol o
S
[
500 .
E £ L=10.00m
. e -
£ W OB % u 3 BHAY 5 g om B
B =
BEE VP-100 1.0 1000 100 m
FIEM b 0.5%0.0.214—(1/4 % 0.057"2 % 71) 0.097 1000 10 m3
HEEEIE 0.50 10.00 5.0 m2

KX TIFREETE




B E B W = T



B ERERFR

% i ﬂ I . S
s
FAIT7ILE t=10cmLL m 291.7 291.7
avol)—+k t=10cmLL T m 18.6 18.6
S E Y
FTAIT7ILE t=7cm m 338. 3 338. 3
—— t=>5cm m 182.2 182.2
M L
avo)—FrERIEL |OEEY m3 67.3 67.3
aVHY— ML BEEEY n3 0.1 0.1
BEERHE
BIEE  AOke/BUT #®
BIE  4Oke/HiiB i _ 476 476
55
FTAIT7ILE A1x0.07+A2 x0. 05 m3 32.8 32.8
mHpao)—hk m3 67.3 67.3
oo 1)—+hk m3 0.1 0.1




Rl i ROE
x 11 =) 11

Al = E K 1 Al = I 3 ® =
NO.0 +17.0 ~ NO.13 +14.7 257.7  As#hsE
NO.0 +17.0 ~ NO.1+7.6 12.1  Asths
NO.1+18.9 ~ NO.2 +9.4 10.5  AsHis
NO.3+7.5 ~ NO.3 +19.5 11.9  Con#hZt
NO.5+0.8 ~ NO.5+7.5 6.7 Conghzt
NO.6+7.9 ~ NO.6 +12.6 4.7  AstRE
NO.8 +6.2 ~ NO.8 +12.9 6.7  AsEhi

i R 291.7

Con#fik 18.6

it
R 291.7

Congjit

18.6




BEMBEREFEE

B A XMEmER TSR A (BaE) ZfA SRR (BE) A

BB THEE ® % BB FHEA ® & 7

NO.0+17.0 1.59 0. 80
NO. 2 23.00 0.75 1.17 26.9
NO. 4 40. 00 1.35 1.05 42.0
NO. 6 40. 00 1.50 1.43 57.2
NO. 8 40. 00 1.35 1.43 57.2
NO. 10 40. 00 1.39 1.37 54.8
NO. 12 40. 00 1.32 1.36 54.4

NO.13+14.7 ~ 34.70 1.32 1.32 45.8

/Nt 257.7 m2 338.3 m2




) T BERREGE EA GEGRR BB &0
y =1 — — — —
. XEEM 28 wemE = W BB ToiEs m om0

NO.0+17.0 1.30
NO. 2 23.00 1.02 1.16 26.7
NO. 4 40. 00 0. 60 0. 81 32.4
NO. 6 40. 00 0.59 0. 60 24.0
NO. 8 40. 00 0.57 0.58 23.2
NO. 10 40. 00 0.64 0. 61 24.4
NO. 12 40. 00 0.72 0.68 27.2

NO.13+14.7 ~ 34.70 0.68 0.70 24.3

&5t 257.17 m2 182.2 |m2




BEMBEREFEE

A A X BEYERRL (E@j]_) . , $§iﬁ¢&lﬂ¥i% L (E@_J‘l_) -
W E FIOME T B BT B FHOME T B

NO.0+17.0 0.1

NO. 2 23.00 0.3 0.20 4.6

NO. 4 40. 00 0.3 0.30 12.0

NO. 6 40. 00 0.3 0.30 12.0

NO. 8 40. 00 0.3 0.30 12.0

NO. 10 40. 00 0.2 0.25 10.0

NO. 12 40. 00 0.2 0.20 8.0
NO.13+14.7 ~ 34.70 0.3 0.25 8.7

/Nt 257.7 67.3 |m3




BEER 18 (BiE L) e HE £
i {81 A" {81
A =1 £ K i Pl =1 £ K " &
NO.1 -16.5 1.2 HP-D400
it E 21— L%ED400 1.2 m
SkERHEEY 1.2%0.048 0.1 m3
&t HHEEY 0.1 m3




BERE E HE =
v 11 A 11
b:l| = £ E ] b:l| J=1 E & B =
NO.1 +17.0 ~ NO.13 +13.9 238.0 40kg#B
40kg/ M8
£+ 238.0m=0. 50m/#& 476 %
40kg/ i 476 %
40kg/ LT 0
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HEIHESFR

% #

EBEEE
TRERET
LERET

®ET

BRAET
®ET
R BEE
TRERET
LERET
®ET
SEiHE (AL
BRAET
®ET
aAry)— kR
BRAET
®ET

A

#a B
RC-40 t=15cm
M-30 t=10cm

ZR7 A2 T=bom

RC-30 t=10cm

BRF7 AL t=3om

RC-30 T=11cm
M-30 t=7cm

BRI 7 AL t=4dom

RC-30 t=10cm

BRF7 AL t=3om

RC-40 t=10cm

ock=18N/mm2 t=10cm

B

m2
m2
m2

m2
m2

m2
m2
m2

m2
m2

m2
m2

£
A afl a &

126.6 126. 6

126.6 126. 6

126.6 126. 6

509. 2 509. 2

509. 2 509. 2
39.6 39.6
39.6 39.6
39.6 39.6
21.9 21.9
21.9 21.9
10.4 10.4
10.4 10.4




BEHAE
HEfE
) - ERAET) BB (ZE
p: =1 — — —
A PR - 8 wwmE ®m & B A ToEE ® BT
INET m2 m2




EfEE
BE%
B s mmmm o ceLE@) 0 BEIGR) .
B THiEE @ & g B FHIEE @ 1B

NO. O 0.50 0.25 0.50 0.25
17.90 0.50 0.50 9.0 0.50 0.50 9.0

1.30 0.90 1.30 0.90
3.30 1.30 1.30 4.3 1.30 1.30 4.3

0.50 0.90 0.50 0.90
NO. 4 31.80 0.50 0.50 15.9 0.50 0.50 15.9
NO. 6 40. 00 0.50 0.50 20.0 0.50 0.50 20.0
NO. 8 40. 00 0.50 0.50 20.0 0.50 0.50 20.0
NO. 10 40. 00 0.50 0.50 20.0 0.50 0.50 20.0
NO. 12 40. 00 0.50 0.50 20.0 0.50 0.50 20.0
NO. 13+14. 7 34.70 0.50 0.50 17.4 0.50 0.50 17.4
a5t 247.17 126. 6 126.6




=
HEE
) - ERAET) BB (ZE
y =1 — — —
A PR - 8 wwmE ®m & B A ToEE ® BT
INET m2 m2




==
HEFTHEE
N = EI E'\I n’I EE\I
pi(] = XMEER —_ =@ ;JW . o Ea e ;JD &
B THiEE @ & g B FHIEE @ 1B
NO. 0 2.15 1.08 2.15 1.08
NO. 2 23. 00 1.80 1.98 45.5 1.80 1.98 45.5
NO. 4 40. 00 2.17 1.99 79.6 2.17 1.99 79. 6
NO. 6 40. 00 2.16 2.17 86.8 2.16 2.17 86.8
+4. 8 4. 80 2.16 2.16 10. 4 2.16 2.16 10. 4
+7.1 2. 40 1.08 2.6 1.08 2.6
+14.7 1.70 2.16 1.08 1.8 2.16 1.08 1.8
NO. 8 25. 30 2.16 2.16 54.6 2.16 2.16 54.6
+3.3 3.30 2.16 2.16 7.1 2.16 2.16 7.1
+6. 1 2.80 1.08 3.0 1.08 3.0
+14.9 2.00 2.16 1.08 2.2 2.16 1.08 2.2
NO. 10 25.10 2.16 2.16 54.2 2.16 2.16 54.2
NO. 12 40. 00 2.16 2.16 86. 4 2.16 2.16 86. 4
NO.13+14.7  34.70 2.16 2.16 75.0 2.16 2.16 75.0
&t 245. 1 509. 2 509.2 mi




4 4t %

E K 14 FR
% W M % % % W oz B owm o=
i==H
TEBRETL t=11cm 16.6 1.00  16.6 m2
LE®ET  t=Tcm 16.6 1.00 16.6 m2
RET t=4cm 16.6 1.00 16.60 m2




4 4t %

E K 14 FR
% W M % % % W oz B owm o=
i==H
TEBRETL t=11cm 23.0 1.00 230 m2
LE®ET  t=Tcm 23.0 1.00 230 m2
RET t=4cm 23.0 1.00 230 m2




E K 14 FR
% W M % 3 W oz B owm o=
i==H
REET t=10cm 13.7 100 137 m2
xET t=3cm 13.7 1.00 137 m2




E K 14 FR
% W M % 3 W oz B owm o=
i==H
REET t=10cm 105 100 105 m2
xET t=3cm 10.5 1.00 105 m2




HiE

I Xk B2 =

E K 14 FR
% W M % % % W oz B owm o=
i==H
REET t=10cm 3.7 100 37 m2
*®ET t=3cm 3.7 100 37 m2




NTT# B R

E K 14 FR
% W M % % % W oz B owm o=
i==H
REET t=10cm 6.9 100 69 m2
*®ET t=10cm 6.9 100 69 m2




dE %

E K 14 FR
% W M % % % W oz B owm o=
i==H
REET t=10cm 35 100 35 m2
*®ET t=10cm 35 100 35 m2







REHRIHERR
" 5 &
® " s O em =6 &
REHER BEAE 253.8




RE#ER F
A {81
A A J=1 E K

NO.0 +17.0 ~ NO.6 +7.6 112.1
NO.6 +12.5 ~ NO. 8 +6.6 36.5
NO.8 +12.3 ~ NO.13 +14.7 105. 2

5t A 253.8
a5t 253.8
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E¥xXT
K i

HEmEE
RIovy
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Sk
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ik
Sk

15#&AT
257 AT

RIRA SR

BATHERR

B

THA

%
il

B

m3
m3
m2

A

=g

4.3

13.8

13

op

4.3

13.8

13




BEL T £ HE =
x {81 B {81

Bil| =1 £ R " & Bil| =1 £ R
NO.6 +4.7 ~ NO.6 +7.1 3.4 25
NO.6 +13.0 ~ NO.6 +14.7 2.9 25
NO.8 +3.3 ~ NO.8 +6.1 4.4 =

NO.8 +12.1 ~ NO.8 +14.1 3.1

it 15 0.0 g 15 0.0

25 0.0 25 13.8

=11 18 0.0

25 13.8




BRIRFER it F

i

i 1 a 1

_'l_l

Al =R E K ® & Al =R E K

NO. 0 +16.8
NO.1 +5.3
NO.1 +15.8
NO.2 +9.9
NO. 3 +13.4
NO. 3 +18.4
NO. 4 +19.4
NO.5 +8.3
NO.6 +3.6
NO. 6 +15.8
NO. 7 +11.2
NO. 8 +3.4

NO. 8 +15.9

&t 13




180
ELFNFEE
1:3
7 2—!
-/
3 g
& 4
50 210 |50
310
E £ L=10.00m
. TL‘IL —
£ W OB % u 3 %‘E';EE&E
==
SEEHERTOvY cig 1.000 1000 100 m
BEILZIL 1:3 0.21 X0.02 0.0042 10.00 0.042 m3
EILZILITIE 1:3 CADXKIEIZ LD 0.034 10.00 0.340 m3

HEEEIE 0.31 10.00 3.1 m2




